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Learning goal: Students will be able to Identify adjacent angles,
calculate unknown adjacent angles, distinguish adjacent angles
from other angle relationships.

PROBLEM ANSWER & EXPLANATION

Two adjacent angles, ZABC = 35° and
£ CBD, form a straight line. Find ZCBD.

ZPQR = 50° and £ZRQS are adjacent. If
ZPQS =120°, find ZRQS.

Two adjacent angles, ZLMN = 70° and
ZNMO, add up to 150°. Find ZNMO.

ZEFG = 25° and £ZGFH are adjacent. If
ZEFH = 90°, find £GFH.

£XYZ = 40° and LWYX are adjacent. If
ZWYZ is a right angle (90°), find ZWYX.

Two adjacent angles, ZJKL = 60° and ZLKM,
form a right angle. Find ZLKM.

ZAOB = 30° and £BOC are adjacent. If
ZAOC =100°, find £BOC.
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Two adjacent angles, ZUVW = 55° and
ZWVX, add up to 130°. Find ZWVX.

£ CDE = 15° and ZEDF are adjacent. If
ZCDF is a straight angle (180°), find £LEDF.

ZGHI = 80° and ZIHJ are adjacent. If
ZGHJ = 10°, find ZIHJ.
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Learning goal: Students will be able to Identify adjacent angles,
calculate unknown adjacent angles, distinguish adjacent angles
from other angle relationships.

PROBLEM

ANSWER & EXPLANATION

Two adjacent angles, ZABC = 35° and
£ CBD, form a straight line. Find £CBD.

Adjacent angles on a straight line add up to
180°. So, LCBD =180° - 35° = 145°.
Answer: 145°

ZPQR = 50° and £ZRQS are adjacent. If
ZPQS =120°, find ZRQS.

Since ZPQR + ZRQS = ZPQS, then
50° + LRQS =120°

ZRQS =70°.

Answer: 70°

Two adjacent angles, ZLMN = 70° and
ZNMO, add up to 150°. Find ZNMO.

ZLMN + ZNMO = 150°
70° + ZNMO = 150°
ZNMO = 80°.
Answer: 80°

ZEFG = 25° and £GFH are adjacent. If
ZEFH = 90°, find £GFH.

LEFG + LGFH = LEFH
25° + LGFH = 90°
ZGFH = 65°.

Answer: 65°

£ZXYZ = 40° and LWYX are adjacent. If

ZWYZ is a right angle (90°), find ZWYX.

LWYX + LXYZ = LWYZ
ZWYX + 40° = 90°
ZWYX = 50°.

Answer: 50°

form a right angle. Find ZLKM.

Two adjacent angles, ZJKL = 60° and ZLKM,

ZIKL + ZLKM = 90°
60° + LLKM = 90°
ZLKM = 30°.
Answer: 30°

ZAOB = 30° and £ZBOC are adjacent. If
ZAOC =100°, find £BOC.

ZAOB + £ZBOC = LAOC
30° + £BOC = 100°
£ZBOC =70°.

Answer: 70°
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Two adjacent angles, ZUVW = 55° and
ZWVX, add up to 130°. Find ZWVX.

ZUVW + LWVX = 130°
55° + ZWVX =130°
ZLWVX =75°,

Answer: 75°

ZCDE = 15° and ZEDF are adjacent. If

ZCDF is a straight angle (180°), find LEDF.

ZCDE + £EDF =180°
15° + LEDF =180°
ZEDF = 165°.
Answer: 165°

ZGHI = 80° and ZIHJ are adjacent. If
ZGHJ =10°, find ZIHJ.

ZGHI+ ZIH) = ZGHJ — 80° + ZIHJ = 110° —
ZIHJ = 30°.
Answer: 30°
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